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Year 5  - Reasoning

+RPH�/HDUQLQJ���6HVVLRQ��

)RFXV�/HDUQLQJ���0RGHO�([DPSOH�

Year 5 ([SecteG Year 5 0aster\

6WHS�RQH���LGHQWLI\�WKH�FRUUHFW�SODFH�YDOXH�FROXPQ�WKDW�WKH�TXHVWLRQ�LV�DVNLQJ�\RX�WR�
URXQG�WR��

6WHS�WZR���ORRN�DW�WKH�GLJLW�WR�WKH�ULJKW�RI�WKDW�FROXPQ��

6WHS�WKUHH���,I�WKH�GLJLW�LV�EHWZHHQ������WKHQ�WKH�GLJLW�LV�OHIW�XQWRXFKHG��,I�WKH�GLJLW�LV�
EHWZHHQ�����WKH�GLJLW�JRHV�XS�E\�RQH��

6WHS�IRXU���$Q\�QXPEHU�RI�GLJLWV�DIWHU�WKDW�QXPEHU�EHFRPHV�D�]HUR�

SteS one - tKe nXPber is � 

SteS tZo - tKe nXPber to tKe rigKt is 5 

SteS tKree - as tKe Gigit is a 5 tKat Peans to 
roXnG XS 

SteS IoXr - tKe ansZer is 10

x +HUH�DUH�WKUHH�EDJV�LQ�D�VKRS

+RZ�PXFK�GRHV�EDJ�%�FRVW�WR�WKH�
QHDUHVW�SRXQG"�-DPLH�EX\V�EDJ�$�DQG�
&���+RZ�PXFK�FKDQJH�GRHV�KH�JHW�
IURP����"

x +HUH�DUH�IRXU�GLJLW�FDUGV�

8VH�HDFK�GLJLW�
FDUG�once�WR�
PDNH�WKH�
GHFLPDO�QXPEHU�
QHDUHVW�WR����

x 7KH�GiIIerence EHWZHHQ�WZR�
QXPEHUV�LV����������������������������������������
:KHQ�HDFK�QXPEHU�LV�URXQGHG�WR�
WKH�QHDUHVW�KXQGUHG��WKH�GLIIHUHQFH�
EHWZHHQ�WKHP�LV�������������������������
:ULWH�ZKDW�WKH�WZR�QXPEHUV�FRXOG�
EH��

x $�QHZVSDSHU�UHSRUWHG��������������������������

��PLOOLRQ�SHRSOH��WR�WKH�QHDUHVW�
PLOOLRQ��ZDWFKHG�D�IRRWEDOO�PDWFK�RQ�
WHOHYLVLRQ�
������������������������������������������
:KDW�LV�WKH�VPDOOHVW�QXPEHU�RI�
SHRSOH�WKDW�FRXOG�KDYH�ZDWFKHG�WKH�
IRRWEDOO�PDWFK�RQ�WHOHYLVLRQ"


